PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Pine				285,733	cords	
Hardwood				65,365	cords	
Pulpwood (Total)				351,098		
Chip & Saw				3,055	cords	
Saw Timber						
Pine				77,332,236	board feet	
Hardwood				3,144,053	board feet	
Saw Timber (Total)				80,476,289		
Total Pulpwood, Chip & Saw,						\$61,673,867
Saw Timber FOB Mill						
Total Forestry Stumpage						\$35,760,063
Christmas Trees	*			30	trees	\$1,200
Forestry (Total)						\$61,675,067
FRUITS						
Blueberries	*	3.0	15.00	45	lbs.	\$56
Peaches	*	3.0	30.00	90	bu.	\$2,700
Fruits (Total)		6.0				\$2,756
FEED GRAINS						
Corn	*	750.0	150.00	112,500	bu.	\$257,625
Feed Grains (Total)		750.0				\$257,625
GREENHOUSE VEGETABLE	ES					
Tomatoes	*	2,880.0	5.00 Yield / sq. ft.	14,400	lbs.	\$19,440
Greenhouse Vegetables (Total)		2,880.0	•			\$19,440
HAY FOR SALE		,				
Grass	130	5,300.0	4.00	21,200	tons	\$1,060,000
Hay for Sale (Total)		5,300.0				\$1,060,000
						Page 1 of 5
						1 agc 1 01 3

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
HOME GARDENS	1,800					\$540,000
NURSERY CROPS						
Floraculture & Bedding Plants	*				acre	\$200,000
Woody Ornamentals	*				acre	\$100,000
Foliage Plants	*				acre	\$35,000
Nursery Crops (Total)						\$335,000
VEGETABLES						
Cantaloupe	6	5.0	200.00	1,000	cartons (40 lbs.)	\$15,000
Collards					,	
Fresh	8	3.0	600.00	1,800	doz. bunches	\$12,600
Collards (Total)		3.0				\$12,600
Mustard (Fresh)	7	1.0	600.00	600	doz. bunches	\$4,200
Southern Peas (Fresh)	20	150.0	96.00	14,400	bu. (24 lbs.)	\$288,000
Squash (Fresh)						
Yellow Squash	12	2.0	250.00	500	bu. (45 lbs.)	\$6,000
Squash (Fresh) (Total)		2.0				\$6,000
Sweet Corn (Fresh)	10	35.0	600.00	21,000	doz. ears	\$63,000
Tomatoes (Field)	10	5.0	1,000.00	5,000	lugs (20 lbs.)	\$75,000
Turnips (Fresh)	6	1.0	600.00	600	doz. bunches	\$4,200
Watermelon	12	500.0	250.00	125,000	cwt.	\$750,000
Vegetables (Total)		702.0				\$1,218,000
TOTAL ALL PLANT ENTI	ERPRISES					\$65,107,889

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
FRESHWATER FISHERIES						
Catfish (Wild)	*			13,161	lbs.	\$6,146
Buffalo	*			20,214	lbs.	\$3,113
Freshwater Fisheries (Total)						\$9,259
FUR ANIMALS				42	pelts	\$223
ALLIGATORS (WILD)				45	ft.	\$990
HUNTING LEASES	150	255,000	No. Acres		acre	\$1,402,500
			Leased			
HONEY	*	35	No. Hives	2,665	lbs.	\$3,598
TOTAL ALL FISHERIES & V	WILDLIFE ENTERPRISES					\$1,416,569

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			700	head	\$254,359
400-500 lbs.			1,100	head	\$459,806
500-600 lbs.			1,200	head	\$551,364
600-700 lbs.			400	head	\$208,000
Steer Calves (Total)					\$1,473,529
Heifer Calves					
300-400 lbs.			400	head	\$128,044
400-500 lbs.			800	head	\$301,572
500-600 lbs.			950	head	\$404,624
600-700 lbs.			550	head	\$268,125
Heifer Calves (Total)					\$1,102,365
Yearling Cattle					
600-700 lbs.			300	head	\$156,000
700-800 lbs.			200	head	\$112,500
					Page 3 of 5

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES						
Yearling Cattle (Total)						\$268,500
Cow-Calf Pairs				800	pair	\$576,000
Cull Cows					head	\$214,646
Cull Bulls				30	head	\$21,915
Cattle & Calves (Total)	220	6,800	No. Cows			\$3,656,955
HORSES						
Brood Mares						
Race Horses	12	65	No. Brood Mares	52	head	\$312,000
Show Horses	18	80	No. Brood Mares	68	head	\$204,000
Recreation Horses	125	220	No. Brood Mares	176	head	\$264,000
Brood Mares (Total)						\$780,000
Stud Fees						
Race Horses	*	5	No. Stallions	30	mares bred	\$75,000
Show Horses		12	No. Stallions	72	mares bred	\$108,000
Recreation Horses		15	No. Stallions	200	mares bred	\$20,000
Stud Fees (Total)						\$203,000
Race Horses	10				head	\$280,000
Show Horses	22				head	\$152,000
Recreation Horses	170			276	head	\$276,000
Horses (Total)						\$1,691,000
POULTRY						
Broilers	12			36,078,000		\$22,007,580
Cull Hens				1,433,413		\$215,012
Breeder Flocks	7	199,527	No. Birds	2,494,086	doz. hatching eggs sold	\$947,753
Poultry (Total)						\$23,170,345

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
QUAIL	*	5,000 No. Breed	14,000	each	\$28,000
211		Stock			
SHEEP					
Wool		30 No. Sheared		cwt.	\$24
Slaughter Lambs			2	head	\$196
Feeder Lambs			20	head	\$1,290
Show Lambs			10	head	\$2,750
Stocker Sheep			5	head	\$238
Cull Sheep			5	head	\$175
Sheep (Total)	*	30 No.Breeding			\$4,673
		Ewes			
GOATS					
Show Goats			20	head	\$3,000
Slaughter Goats			30	head	\$2,550
Stocker Goats			15	head	\$975
Cull Goats			15	head	\$630
Goats (Total)	*	40 No. Does			\$7,155
SWINE					
Show Pigs			15	head	\$4,500
Feeder Pigs				head	\$3,150
Slaughter Hogs				head	\$15,438
Culls				head	\$6,600
Swine (Total)	6	35 No. Sows			\$29,688
TOTAL ALL ANIMAL I		30 110. 50 115			\$28,587,815
BIENVILLE PARISH					\$95,112,273